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The figures in the margin indicate full marks
" for the questions

1. RetarpiR Te fa 1x8=8

Answer as directed :

(a) SR S AgE

Define per capita income.
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(2)

(b) =TS T T Seom ﬁs ?
What is real gross domestic product?
(€ =R “fReny e & ™2

What do you mean

 Payment? by transfer of

(@) IEFRE @Y ewmn By |
Define fiscal multiplier,

(e) GNP at factor cost [0y
GNP at factor cost is |

() GDP at f;
B R oy -+ RO T

GDP at factor
abroad

(i) NDP at fact ' .
R oy T G

Cost + net income from

NDP at factor co
abroad

(i) GNP at factor ogt _

V-Smg
GNP at factor cost - p ‘s
~ cost €preciation

(iv) €17 «ibre g
None of the above

(Choose the Correct answer)

St+ net income from
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(3)

(n % @ o & @

What do you mean by near money?

(g) R oKy weRER WA CfRTTeEd
FARAFIICH! (=

The equation of quantity theory of
money by Irving Fisher is

() MT =PV
(i) MV = PT
(iii) M =PV

(iv) M = TPV
(o Teco! A Sferean)

(Choose the correct answer)

() viRwERe RS e &3
What do you mean by demand pull
inflation?

2. fare Repmm R @on foRtR eme oy
o foma 4x3=12
Write short notes on any three of the
following topics :

(@) TER FRE@EA

Functions of money
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(4)

(b) WNAST FEHR @ B GDP

GDP as a measure of econbmic welfare

(0 &3 TR RM

Say’s law of market

(d) TErRRS F1o

Inﬂé.tionary gap

3. Ifef wdREM e TR wdRerr o nad

R 2 sl SREER R e Mrmer w
I :

2+10=12

What is the difference between ‘micro
economics and macroeconomics? Discuss the
scope and limitations of macroeconomics

YT /Or

SRR R BT B T Ry
R Bty
TS I SR R i e 2wy ¢

Define national income. Discuss djffe;
concepts of national income at market ere:nt
and factor cost. price
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2+10=12

(S)

4. T AT e Fr R @ g1 ue ez

Ty 9| 2+10=12

What is value added method? Point out the
merits and demerits of this method.

g /Or

R SR AT Y Bl | 7R e 7 e ave
AR Gl 2R Al T e 91 2+10=12

Define circular flow of income. Discuss the
process of circular flow of income in two-
sector economy.

AJRI A FAL 12
Critically explain Keynesian liquidity
preference theory of money demand.

] /Or
TR SrwprR B | @R e SRtz
AR 0! 6+6=12

Write the objectives of monetary policy.
Explain the main tools of monetary policy.
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(6) (7))

' w%qT /Or
6.%%%@%{%@%1@?@@%:{@% | - .
FE9 T WTW‘[{ HCEoAl 91 | 2+10=12 ? IS-LM wIf3] wizwe CEALE YR SRAMS [Retet
What do you meant by hyperinflation? T @ S 39 1| G} ReRrR Sarwerz & |
Discuss ‘the causes and results of hyper- 9 } ‘8+4=12
inflation.

Discuss how general equilibrium is
determined through the IS-LM model. What

©%3t /Or | are the limitations of this analysis?
TS WF IWEES JErRRT woE i B | o .
TP FaE I @R QS 9= T TR alals
AT 4T | R <&z Mo & /2
2+8+2=12

Distinguish between demand-pull and cost
push inflation. Discuss the methods taken by
the central bank to control inflation. What are
the limitations of these methods?

7. QTR T e REOed I w1 @R
%ﬂmwﬁmﬂwﬁwwwmqﬁ
1T FACA? (TN &I TeH IR fan 8+4=12

Explain the Keynesian theory of income and
employment. Do you consider Keynesian
theory of income and employment superior
compared to classical theory? Give arguments
in support of your answer.
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